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Directions for the following 8¢ eight) items :
Read the following seven passages and answer the

. tems that follow each passage. Your answers ito
_ these items should be based on the passages only

_ Passage - 1

: : Political theorists no doubt have to take
history of injustice, for example, pntuuché.bility,
seriously. The concept-of historical injustice takes
_ note of a variety of historical wrongs -that

continue into the present in some form or the
other and tend to resist repair. Two reasons
" might account for resistance to repair. One, not
only are the roots of injustice buried deep in
itself constitutes _economic

history, injustice

structures  of - exploitation, ideologies  of
discrimination‘and modes of representation. Two,
the category —of- historical injustice genefally
extends across a number of wrongs such as
_ economic ‘deprivation, social discrimination and -
lack of recognition. This category is complex ]
only hecause of the overlap between a nu
wrongs, but because one or the other w
generally @iscrimination, tends to acq |
~ autonomy from others. This is b e@r the
history of repair in Indla

What is the mein id &:e cdn mfer from
the passage ?

Indla has not ‘been
by pohtlgal theorists.

. (a) Untouch
taken ferio
® - 1 injustice is ihevi_table in any
" sofiety and is always beyond repair.
(¢) Social discrimination and deprivation
" have their roots in bad economies.
(d) Itis d_ifﬁ.cult,.' if not impossible, to repair
every manifestation of Thistorical
injustice. '

BKL-S-HJU

On the basis. of the above passage, the
following assumptions have been made :

1. Removal of economic d1smm1natmn
leads to removal of soc1al diserimination.

2. Democratic polity is the- ‘best way to
. repair historical wrongs. :

Which of the above assumptwns 1s/are valid?
(ay 1 only

(b) Zonly

(¢) Bothland2
(d) Neither 1 nor 2

. Passa_ge -

Edﬁcation plays :
rapidly changing
Tniversities are the

mtellectual ‘capital and
% and specialized knowledge.
activity of i:houg_ht;_

in life, particularly
and globalizing
custodians' of
promoters of cul
and

well informed man is only a_i bore on God’s
h. What we should aim at is producing men
vho possess both culture and éxpert knowledge.
Their expert knowledge will give'-'-th'ein a firm -
ground to start from and their culture w:ll lead
them as deep as philosophy and as hlgh as art. .
Together it will 1mpart meanmg to human '

emstence

On the basis of the above passage, the,
following assumptions have been made :

"~ 1. . A society without well educated people_
cannot be transformed into a modern -
society. :

2, Without acquiring culture, a person’s
education is not complete '

Which of the above assumptlons isfare valid ?
(a) lonly
" (b) 2only
(¢) Both1land2
{d) Neither 1 nor 2

o (a-A)
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Passage - 3

Soil in.which nearly all our, food grows,
iz a hvmg resource that takes years to form.
Yet it can vamsh in lmnutes Each year
75 billion tonnes of fertile soil is lost to
erosion. That is alarming — and not just for
food producers. Soil can trap huge quantities
of carbon dioxide in’ thé form of organic

carbon and prevent it from escaping into the

atmosphere,

'On the basis of the above passage, the

following assumptions have been made :

1. Large scale soil erosion is a major

" reason for widespread food insecurity in

the world. ' :
9. Soil erosion is mainly anthro ogenx
3. Sustainable manage of%0ils helps

in combatmg eli

Which of the W ptions is/are valid ?

(a)
(by 3only
(¢) - 2and3only

(d 1,2and3

BKL-S-HJU -

 region. Its effects are seen in a pe

Passage — 4

Inequality is visible, even statistically
measurable in many instances, but the economic
power that drives it is invisible and not
measurable. Like thé force of gravity, power is
the organising principle of .ineqﬁality, be it of
income, or wealth, gender, race, religion and -

anner .

in all spheres, but the ways i
power pulls and tilts visi

remain invisibly obs

o

s of the above passage, the

follafing assumptions have been made :

Economic power is the only reason for

‘ the existence of inequality in a society.

2. Inequality of different kinds, iﬁcome,

wealth, etc. reinforces power.

3. Econonnc power can be analysed more'
through its effects - than by dlrect

empirical methods.
Which of thé above ;ssumpt'ions 1s/are valid ?
(a) 1land 2 only
(b) 3only
(¢) 1and3only

(d 1,2and3

(5-A)



ufese - 5
Ay IR % FRO IR § $9 e
- T I o B T o TR e
ST3-3Terenss e 1 o v aar & | qanfy,
mwmmﬁa%mméﬁ%
T S, qEn ok W F s & w w
FER BT FH A em | frem R sy
PN ? FTEYHRAT a8 AT FE T BB 2050
6 HFHT, A, wEd 3 %, ¥ W wy
TG A o weAAqfdl wew i, Rl
T el W FarT # wer A 7 Fust w
ﬂﬁmm@nrmﬁww{ﬁﬁaﬁm

- ufeBr-6
Sl R S
feard 2 g 3 | Fobg 3fex-3it =mmeg Y S
I @ otw dnRmt B § 9 siiemady up
WIS A, e 9 @ e g A 2

FE A B ¥ e A o B gl B o

BB g AN 2 ) 3w fraew

R 7 R W 3 oy 3
S F fog 7 4 @&aﬁw%
Y, U &+ yig

ﬁw,ﬁaﬁwég'@

T T R, TT W T | A ey @ | |
1. ¥ feafifea 4 @ s o,

mﬁﬁﬁﬂaqﬁm;mﬁﬁvhaﬂq,

fovweardt aim, sk Ff vgfet @ aw =@
it w6 e § fv-sfiat e fea FEET, At s fRewge
- Haf ) . Fepren w1 aan 3 2
.3, Wqﬂﬁ}gﬁﬁqﬁr@aﬁ@ ; , (@ & R TN we A fifw iR
Al adwma st fdwgef (Fﬁsﬁa)w@méa-ﬁﬁqmwm
T HA R 2 | @ Y
(@) Wi & 3 e Wod @] | -
A ugfoat =y T 3t o (b) ﬁﬁﬂﬁﬁ'ﬂf(ﬁ?ﬂﬁf)mﬁﬁwsﬁmﬁ
Tl I fafyy T ) ﬁﬁam,aamﬁ%%qamﬁ%,ag

Sta-fafereran =61 sarmor 2 |

(b) ey e fafran W whge
S -

© * 78 v yfiet § wiEha © #3F R I9GH Sigedt F A A www
@r%%wﬁqméﬁﬁm

mmmmﬁmﬁgmw

W@Tﬁﬁsﬂmwﬁm T ¥ |
| |
@ Wwﬂﬁqw&%nﬁa@m%a} @ WWWG@Bﬁ%WWW
- e siiEE R ) |

wiasy & Hfy arefemaeon =t wwfaa wom | |

BKL-S-HJU (6-A)



Passage - 5

Climate change may actually benefit some
plants by lengthening growing seasons and
iﬁcreasibg carbon dioxide. Yet other effects df a
warmer world, such as more pests, droughts, and
flooding, will be less benign. How will the world
adapt ? Researchers -project that by 2080,
suitable croplands for four commodities — maize,
potatoes, rice and wheat — will shift, in some:
cases pushing farmers to. plant new crops. Some
farmlands may benefit from warming, but others
won’t. Climate aione does not dictate yields;
pohtlcal shifts, global demand and agricultural
practlces will mﬂuence how farms fare in the

future.

Which one of the following is the most logical

and rational inférence that can be

from the above passage ?

“{a) Farmers who modernize their 1@

~and diversify their ﬁelds

l advantageous position in
() Climate change w1ll versely affect the

crop diversity.

(¢} Shifting ops to new croplands
will lead to & at increase in the total

hder cultivation and thus an

increase - in  overall = agricultural

production. _ _ _

(d) Climate change is the most important
factor affecting the agncultural econumy
in the future.

BKL-S-HJU

. Whic

Passage -6

A bat’s wings may Iookjlike._ sheéts of skin.
But ﬁndemeafh, a bat has the same five fingers
as an orangutan or a human, as well as a wrist
cohﬁected to the same cluster of wrist 'bones
connected to the same long bones of the a;rm' '
What can be more curious than that thethand of
a man, formed for grasping, tha a e for

digging, the leg of the horse,athe ‘paddle of the

porpoise, and the wi of@a should all be
constructed on the s% ‘

one of the following is the most
gical, scientific and rational inference

that ean be made from the abqve passage ?

(a) .Diﬂ'erent species  having similar

structure of hands is an example of

biodiversity. -

(b) - Limbs being used by different species for
" different kinds of v;rorl; is an example of

‘hicdiversity.

(¢) Man and the afoi'ementiohed animals
having similar structure of limbs is an

example of coincidence in evolution.

~(d) Man and the aforementioned animals

" have a shared evolufiu’nary history.

(7-A)
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Passage - 7

Around 56 million years ago, the Atlantic
Ocean had not fully opened and animals, perhaps
including our primate éncestors,- could walk from

‘Asia to North America through Europe and
across Greenland. Earth was warmer than it is
- today, but as the Palaeocene epoch gave way to
Eocene, it was about to get much warmer still —
rapidly and. radically. The cause was a massive
" geologically sudden release of carbon. During this
period _calle_d' Palacocene — Eocene Thermal
Maximum or PETM, the carbon injected into the
atnﬁospheré was roughly the amount that would
be injected toc_lay if humans burned all the
Earth’s reserves of coal, oil and natural gas. The
PETM lasted for about 1,50,000 years, until the
excess carbon was reabsorbed. It brought on
drought, floods, insect plagues and a few
- extinctions. Life-on Earth survived — indeed, it
prospered — but it was drastically different.

8. Based on the above passage, the follcwing[
assumptions have been made : -
1. Global Warmmg has a bearing t
planet’s biological evolution.
2.  Separation of land masses ses the|
- release of huge quantitiesgo into
the atmosphere. -
3. Increased w : o Earth’s
atmosphere can%K the Composition
of its flora and.fa .
4. The prése man-made global warming
will ﬁlﬁj to conditions similar to
ich” happened 56 million years
. a
Which ofjthe assumptions given above are
valid ?
‘(a)- land 2
(b) 3Sand4
(cy land3
d -2 and 4
BKL-S-HJU -

10.

11.

(9-A)

@

The number of times the digit 5 will appear
while writing the integers from 1 to 1000 is

(a) 269
® 271
(© 300
@ 302

oWy, blue and black

of same colour.

into 36 cubes of two
at 32 cubes are small

A solid cube is painte
such that oppositeya:
The cube is the:
different siz

and the o cubes are big. None of the
faces of the bigger cubes is painted blue. How
‘m b we only one face painted ?
(a)

6
{e) 8
(d 10

A and B are two heavy steel blocks. If B is
placed on the top of A, the weight increases by
60%. How much weight will. reduce with
respect to the total weight of A and B, if B is

removed from the topof A7 .
(a) 60%.

b  455%

© 40%

37-5%
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 ' Mr X’ has three children. The birthday of the

is.

o '_ﬁ:st'child- falls on the 5 Monday of April,
rth'at of the second one falls on the
sth Thursday of November. On which day is|

" . the birthday of his third child, which falls on|
20t? December ? :
(a) Monday '
(b} Thursday
(c) Saturday
(d) Sunday '

13. Consider the following Statements and

Conclusions : '
 Statements :
1. Some rats are cats.
9. . Some cats are dogs.
3. Nodogis acow.
Conclusions :
L No cow is a cat.
II. Nodogis arat.
IiI. Some cats are rats. \“\
Which of the above conclusions igfare dr:
from the statements ?
(a) I,TlandIIl ‘
() OnlylandlIl ,' K
(& OnlyHl @ '
(d Onlyll

14, ' The y of parallelograms that can be |
formedf from a set of four parallel lines
intersecting another set of four parallel lines,
is '

(a) 18

(by 24

¢y 382

() - 36
BKL-S-HJU

In a school every student is assigned a

15. _‘ unigque
" identification number. A student is a foothall
player if and only if the identification number
is divisible by 4, whereas a student is a
cricketer if and only if the identification
" pumber is divisible by 6. If every number from
1 to 100 is assigned to a student, then how
many of them play cricket as well as football-?
{a) 4
b) 8
ey 10 K
@ 12 - _ o
16. When a runn sting thé 12 km mark,
- she was info at she-had completed only
80% of t ow many kilometres was the
rs od to run in this event ?
(a) 4
) 15
¢) 16
(d) 1656
17. Raju has T 9000 with him and he wants 0

buy a mobile handset; but he finds that he has
only 76% of the amount required to buy the

handset. Therefore, he borrows T 2000 from a

friend. Then ' '

(a) Raju still does not have enough amount

" to buy the handset..

(b) Raju has exactly the same amount as
required to buy the handset.

(¢ Raju has enough amount to buy the’
handset and he will have ¥ 500 with:
him after buying the handset. '

(d) Raju has enough amount to buy the

handset and he will have T 1000 with
him after buying the handset.

(11-A)
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In 2002, Meenu’s age was one-third of the age

18.
- of Meera, whereas in 2010, Meenu's age was
~ half the age of Meera. What is Meenu’s year of
birth ?
(a) 1992
“(by 1994
. () 1996
(dy 1998
19. Rakesh and Rajesh together bought 10 balls
and 10 rackets. Rakesh spent. ¥ 1300 and
Rajesh spent T 1500. If each racket costs
three times a ball does, then what is the price
of a racket ? '
@. T 70
(b) T 90
@ T 210 .
(d) T 240
20. in a confereﬁce, out of a total %ﬂipants,
70 are Indians. If 60 of th ] pArticipants
are vegetarian, then w h o e following
statements isfare co
1. Indian participants are
2. 0 Indian participants are
Select \the correct answér using the codes
given below ) :
(a) lonly
(b) 2only
() Bothland2
(@ Neither 1 nor 2
BKL-S-HJU

items that follow each passage.
these items should be bused on the passages only. .

Directions for the following 8 (eight) items : pt
Read the following six passages and answer the

Your ‘answers to

Passage — 1

Low-end IoT (Internet of Things) devices are
cheap commodity items .: addressing gecurity
would add to the cost. This class ;
proliferating with new applicatio ;

items is

an ome

appliances, thermostats, secu i
devices and personal }:o devices are
part of the 1oT. So argMfitness rackers, certain
medical implants nuter—like devices in
automobiles. Tl-{& s expected to expand

exponentially — ew security challenges are

daunt

ich one of the following statements is the
most logical and rational inference that
can be made from the above passage ?

(a) Dey_elopment of enabling technologies in
- India can be a big boost to iis

manufacturing sector.

{(p) India is not yet fully ready to adopt ToT
-~ jn view of the imminent security

challenges.

(¢) Life becomes more comfortable with the
development _.of cheap low-end -ToT
devices. - : '

As we go digital, we mﬁst recognise the
huge threat to Internet security from

(d)

some IoT devices.

(13-A)
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E Paésage -2

With the digital phenomenon restructuring
most social sectors, it is little surprise that
global trade negotiations are now eyeing the
digital area in an attempt to pre—emptwely
. colonise it.' Big Data is freely collected or mined
from: developing countries, and converted into
digital 1ntell1gence in developed countries: This
mtelhgenoe ‘Begins to coutrol different sectors
“and “extract monopoly rents. A large forexgn
company promdmg cab service, for instance, is
not a network of cars .and drivers; it is d1g1tal
intelligence about commuting; public transport,
roads, traffic, city. events, personal behavioural

characteristics * of commuters and drivers .

and so on.
22. W]nch one of the followmg is the most logical
" and rational corollary to the above
' -passage ?
- __(_a) Globalization is not 1n the interests of

India as ‘it undermines _its
" socio-economic gtructures.

'Indla should be careful to protect
, dlgltal soverelgnty in global trade ta

0 ~ India’ should charge mor rents
" from multinational mpapies in

. exchange for Big Da

_ d) | The loss of Bi & fr India is
- .~ proportional t eefvalue of its
.. foreign ti

()

Which of &

23,
g ve passage ?
Big Data is the key resource in the
al space
(b) = Big economies credte Big Data.
(c)- Access to Big Data is the prerogative of
' developed countries. ‘
(d) Access to and possession of Big Data is &
_ characteristic of developed countries.
BKL-S-HJU

 on water supply.. How signific

24, W

fo o:mg is most deﬁmtwely

. Passage -3

The rural pOOT across the world; mpludlng_
India; have contnbuted little to. human-mduced
climate change yet they are on the: frontlme ih
coping with its effects. Farmers can no longer
rely - on " historical averages for ralnfall and'

temperature, and’ the-ore frequent and extreme

weather events, such as droughts and floods, ean
spell disaster. And there are new threats, such as
sea level rise and the unpact of melting ‘glaciers

farms:? As many as two billion

Small-holder farmers i
of the country’s food grains)ia
that contribute to.

_@«z;»

most logwal and ratwnal
the above passage 7.

Supportmg small = farmers is
an important part of any agenda
regarding enwromnentally sustamable_ ,
development.

security.

(@

(b) Poor.countries have httle role to 'play in
- the mitigation of global warmmg

. (¢ Due to a large number ‘- of farmer

households, India will mnot have food

‘ securlty problem in the- foreseeable

future. -

Only small-holder farmers in Indla can
ensure feod secunty

@

25. The above passage implies that - ‘

1. There is a potentlal problem of food
insecurity in India. -~ -

2.  India will have to .strength_en.its disaster
management capabilities.

Which of the above assumptlons 1s/are valld ?

'r(a) . 1on1y

(b) Z2only

(© Bothland2 '
d

Neither 1 nor 2

(15—A) _
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Passage - 4

A changing climate, and the eventual
efforts of governments (however reluctant)
to deal with it, could have a big impact on
| that

investors’  returns. - Companies

produce or .use large amounts of fossil

fuels will face higher taxes and regulatory

" purdens. Some energy producers may find

it im}joséible to exploit their known
and be left with “stranded
assets” — deposits of oil and coal that
have fo be left in -the ground. Other -
could be “affected by the

economic damage caused by more extreme

reserves,

industries

weather — storms, floods, heat waves and

" droughts.

On the basis of the above passagé, the

26.
following assumptions have been made :
1.  Governments and companies need
" adeqguately prepared to face the'elim
change. Co
2. Extreme weather even. i uce the
- economaic growth. - rnments and
companies in futur
3. Ignori fma ange is a huge risk
for ixt) S. _
Whi ove assumptions isfare valid 7
(a) d 2 only
(b) 3only
(c) 1 and 3 only
(@ 1,2and3
BKL-S-HJU

Passage - 5

. Acess to. schooling for those coming of
school age is close to universal, but aecess to
exhibits 2a

quality sharp gradient with

7 socio-economic status. Quqtaé for the weaker

sections. 1in private ‘.'schools js a provision
introduced by the Right of Children to Free and
Compulsory Education Act, 9009. The quotas
social

ivate

have imposed a debate on issues O

integration and equity in education t

-actors had escaped by and lar of
egalitarian education . system ith\equality of
opportunity as its prima ppears to be -

outside the space th iv chool principals

snhabit. Therefor

has led to reSiif etimes justified.

d
Wit

sition of the quotas

1.  Making equality of opportunity a reéli_tjr
is the fundamental ‘goal of the Indian
education system.

2. The 'preseht Indian- school system is
unable to provide egalitarian education.

3 Abolition schools and

establishment of more government

of private
~ schools is the only way 1o ensure
egalitarian education. o
‘Which of the ébove agsumpﬁions is/are val'id‘?
| _ (a) 1and2only
(b 9 only
" (¢) 2and3only

(d) 3only .

(17 - A)-
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Passage - 6

A majority of the TB infected in India are
poor and lack sufficient nutrition, suitable
housing and have little understanding of
prevention, TB then dévastates families, makes’
the poor poorer, particularljr affects women and
children, and leadé to osi;racisation and loss of
"employment. The truth is that even if TB does
not kill them, 'hunger and poverty will. Another
truth is that deep-seated stigma, - lack of
counselling, expensive treatment and lack of
adéquat_e support from providers and family,
coupled with torturous side-éﬂ'ects demotivate
patients to continue treatment — with disastrous

health consequenceé.

Which one of the following is the

28.

logical, rdtional' and crucial K ge

conveyed by the above passage ?

(a} 'TB isg not a curable- Indian
cir(_:umstances.

(b) Curing TB revﬁxo an diagnosis
and médi ent.

(¢) Govefnmen¥s surveillance mechanism is

¥and poor people have no access |
treatment.

(d) India will be free from diseases like TB
only when its poverty alleviation
programmes are effectively and

~ successfully implefﬁented.
BKL-S-HJU | (19—

29, A five- storeyed building with floors from I to V
is painted using four different colours and
only one colour is used to paint a floor.
Consider the following statements :-

1.  The middle three floors are painted in
different colours.
2. The second (II) and the fourth (IV) floors
are painted in different colours. _
3. The first () and the fifth (V) floors are
3 painted red. .
To ensure that any two co oors have
different colours :
{(a) Only statement 2 i cient
() Only stateme cient
(¢) Statemen not sufficient, - but
stateme ng w1th statement 2 is
(d) is not sufficient, but
 gtate ent 3 along with statement 2 is
) ent
0. P,Q and R are three towns. The' distance
between P and Q is 60 km, whereas the
A distance between P and R is 80 km. Q is in the
West of P and R is in the South of P. What is
the distance between Q and R ?.
(a); 140 km
(b) 130 km
(¢y 110km
(d 100 km
31. Al menibers of a club went to Mumbai and

stayed in a hotel. On the first day, 80% went
for shopping and 50% went for. s1ghtsee1ng,
whereas 10% took rest in the hotel. Which of
the following conclusion(s) can be drawn from
the above data ?

* 1.  40% members went for shoppmg as well

as sightseeing.

2.  20% members went for only shopping.

Select the correct answer using the code given |

below :

(a) 1lonly

() 2only

(¢) Both land 2
(d)

Neither 1 nor 2

A)
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32.

In a school, 60% studente play ericket. ‘A

student who does not play cricket, plays
football. Every. football player has got a
two-wheeler. Which of the following
conclusions eannot be drawn from the above
data ? '

1. 60% of the students do not have

two-wheelers.
R i

2. No cricketer has a two-wheeler.

3.  Cricket players do not play foothall.
Select the correct answer using the code given
below :

(a) 1and2only
(b) 2and3 only

(¢} 1land3only

d)y 1,2 .and 3

33. The ratio of a two-digit natural number to
number formed by reversing its digits is
The number of such pairs is.

(a) b : \
o Q)
€ 3- '

d 2 < b&

34. In an . exa has scored 20 marks
more _thanB. IfB has scored 5% less marks
tha.r} uch has B scored ?

(a) 3
(b 380
(e} 400
(d) 420
BKL-S-HJU

35.

36.

131,

(-21.—A)'

‘Seeta and Geeta go for a swun after a gap of
every 2 days ‘and every 3 days respec‘l’nvely If

on 18 J anuary both of them went for a’ swim

together when will they go together next ?

RO J__anu_ary o
() 8th Janru_ary._‘
(¢ 12t January .
(d) 13" January
X, Y and Z are contestants in a race of

1000 m. at all run with diﬁ'erent

tart of 64 m. If Y and Z were to -
a race of 1000 m, how many metres
w111Yg1ve to Z ‘? .

a) 20

iv

3¥)
. umfonés@( gives Y a start of 40 m and
‘ e

® 25
¢y 30
(@ 35

Ifxis greater than or equal to 25 and y is less
tha.n or equal to 40 then wh1ch one of the
follomng is always correct ‘?

A(a) x is greater than y

(b) (y-x) is greater than 15 |

(cj (v -x) is- less than or equal_ to15
@ &+y 1s greater than or equal to 65
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Ena was born 4 years. after her parents’

38.
man’iagé. Her mother is tliree years younger
than her father and 24 years older than Ena,

« who is 13 years old. At what age did Ené’s
father get married ? -
(a) 22 years
(b) 23 years
{c) 24 years
(d) 25 jrears '

39. Rakesh had money to buy 8 mobile handsqets
of a specific company. But the retailer offered
very good discount on that particular handset.
Rakesh could buy 10 mobile handsets with the
amount he had. What was the discount the
retailer offered ?

(@) 15%

®  20% \
() 25% (b ‘
d) 30%

40. The average marks@ students are given|

to be 40. It er that marks of one |
- student w 1ch were misread as 83.
The ct an marks are
(a)
(b) . 397
(c) 40
(d) 403
BKL—S-HJU (23

Direcﬁons forthe fbliowing 7 (seven) items :

Read the fol_lowing six paséages_ and answer the

items that follow each passage. Your answers to

| these items should be based on the passages only."

Passage -1

What stands in the

Modification

Intellectual Propertp Rights’ regime that
seeks to vat_e monopolies for '_s.uch '
o@ If GM technology is largely
cofborate driven, it seeks to maximize
rofits and that too in the short run. Thé.t
make mﬁjor

is why corporations

investments for herbicidé-toleraﬁt and
7 pest-resistant crops. Such properties have
only a short windqwr, as soon enough, pests
-and weeds will evolve to overcome such
resistance. This suits the corporations. The
* National Farmers Commission po_intéd out
that prioﬁi_:y must be given in genetic
_modification to. the incorporation of genes

'~ that can helﬁ impart resistance to drought,

salinity and other stresses.

~A)



41.

 BKL-S-HJU

frafafias § & A w, IEE Wed g
G mn wEffaw adam, ﬁéa;guf ik
Brorfas @3 2 2

(a) ﬁagéﬂﬂwaﬁ'a%GMsﬂa’rﬁﬁﬁ
amvft g wifdu ot T defER <
Trofierareil = 99 e =R |

() Trermeiw 9 9 98 7@ wro # Jer|

=fee 3t g duan el 1w
ghfem = =ifse | \

(c) REEHH HAFE B ARG T FY =ATEE
(Bh-foeg) T, @ i R
w0, H argafa T8 g =fae |

@ F9H uRdE  oideafel  engEfiRed:

mmﬁaﬁﬁ%qeﬁﬁqﬁ%j

aqgmﬁ@;@ et 35 ¥ 7

. (a)

(b) e 2
(@ 13 28R

@ A 1,2 ade

(24—A)

ez 2

- wfefiE) T @ OR T & e €, 7 @ st

IR § | o9 % omwme Wy 7 dt
a9k ®9 4 bt §, T @ w@w T | Hew
#, o s ¥ N Tw® F g T
ured # s T ROE SAE]
SRt 1 AR T SERT
Tl #

ﬁaﬁﬁwa’%w

o 0 A T,

+C A of T AR 1 3 TR
¥ SraEETE § ) o

. 3T weede @ Peffea § @ Fear o,

Faife aheTT st Frdwgf e B

S Geell B ?

(a) ST R W S et 3w % @
gl 3 s {fﬁ?ﬂ%gqahq % o
forn st =1l |

() Tt ol % whew 5 feg w0
SIS § )

R RS e E g S s—
ﬁniaas“m%y

@ Feh wed W swdm fedt dmoA
' ﬁa-ﬁﬁwa@ﬁ%%q%mmaﬁm



41. Which one of the following is the most
logical, rational and crucial message
conveyed by the above passage ?

{a) | Public research institutions should take
_'the lead in GM technology and pnontlse
the technology agenda.

(b) Developing countries should. raise this
issue in WTO and ensure the abolition of
Intellectual Property Rig-hts.l -

(cj Private, 'corporations should not be
allowed to do agribusiness in India,
particularly the seed business.

{d) Present Indian circumstances do not
favour the eultivation of genetically
modified crops.

42, On the basis of the above pass. e,
following assumptions have been madZ\
1.  The issue of eﬂ‘ects of nat a.mities

on agriculture no n due
consideration by Kﬁ technology
companies.

2,  Inthe 1 technology will not
-be abl sve agricultural problems

igi gc)o global warming. L

Which e above assumptions is/are valid ?7

(a) 1lonly

(b) Z2only

(©) Bothland2

(d) Neither 1 nor 2

BKL-S-HJU

successful nor very harmful.

region;

(25-A)

Passage — 2

Most invasive species are neither terribly
Britain’s -
invasive plants are not widespread, not

spreading especially quickly, and often less

of a nuisance than vigorous natives such as

in many c flood of

newcomers drives e species to
extinction. 0 is that invaders -
tend to 1sturbed habltats hke

es ~and  post-industrial

wasteland, where little else lives. They are

nature’s opportunists.

Which one of the following is the most logical
and rational inference that can be made
from the above passage ?

(a) Invasive species should be used to
rchabilitate desert areas and

wastelands of a country.

(b) Laws against the introdoction of foreign
plants are unnecessary.

(¢) Sometimes, the campaigns against
foreign plants are pointless.

(d) '_Folreign plants should be used to A

increase the hiodiversity of a country.
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' Passage - 3

 Diarrhoeal deaths. among Indian children.
~are mostly due to food and water contamination.
Use of éohtamji}ated groundwai;,er and unsafe
chemicals in étgﬁcu.ltu;e, poor hygiene in storage
and handling of food items-to food cooked and
distributed in unhygienit; surroundings; there are
myriad factors fhﬁt need regulation and
‘momtormg People need to have awareness of
adulteration and ways of complammg to the
relevant authorities. .Surveillance. of food-borne

. diseases involves a number of government
agehcies' and entails a good training of inspéction
staff.” Consi&érihg the proportion of the urban
population that depends on street food for-,its/
daily meals, ixiveéting in training and education

of street vendors is of great significance.

_ 44. On the basis of the above passagé, _
followmg assumptmns have been made
1. . Food safety is a complex issue th%
. for a multipronged solution.

2. . Great investments need t
developing  the
-surveﬂlanCe andftraining.

make

t

Which ofighe above assumptions is/are valid ?
(a) 1and 2 only |
() Bomly
(¢} land3only
(d) 1,2and3
BKL-S-HJU

ade in

manpower for

‘sufficient

3. India 8
' legisla:@ overning food processing

Phéshgq -4
The interests of working and poor people )
in the

have historically been neglected

planning of our cities. Our cities are
increasingly intolerant, unsafe and unlivable

places for large numbéré of citizens and -Sret we

needs, and"

people’s live expérienge

ber of people |

actively excludmg la %

places, activitie. practices that are an_

ini;egf partief th city. o

The passage seems to argue.

(a) against the monopoly of bullders and the

interests of ehte groups

(b) .against the need for global and ‘smart

cities.

{¢) 1in favour of planning_ﬁties mainly for

~ working class and poor people.

(d) in favour of participation of peoplés’

groups in éity planning.-

(27-A)
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Passage ~ 5

A vast majority of Indians are‘p_oor, with
barely 10 percent employed in the organised
sector. We are being convinced that vigorous
economic growth is generating substantial
employment. But this is not so. “When our
economy was growing at 3 percent per year,
employﬁ_nent fin the organised sector was

growing at 2 percent per year. As the

" economy began to grow at 7 — 8 percent per

year, the rate of growth of employment in the

organised sector actually declined to

1 percent per year.

46. The above pﬁssége seems to imply that
1. most of modern economic growth is
_.based on technological progress.

2. much of modern Indian economy do
not nurture sufficient symb
relationship  with  labo nsive,
natural resource-based liv %

3. service sector in not very

| labour-intensive

4,  literate n@ on is not willing to

~enter Dr@ sector. o

Which e tem_enté given above are
correct ? '

_(a} 1land2only

- (by 3and 4 only
(¢ 1,2and 3 only
d 1,2,3and4

BKL-S-HJU

in financial educatmn and literacy.

_ - Passage - 6

India has bankmg correspondents who help
bring people in the hmterland mto the’ bank.mg
fold. For them to succeed, ban_ks cannot crimp on
costs. They also cannot éﬁ'ord to ignore inveslting
Bankmg

Wed as

correspondents are way 00 small to be vi

perhaps to prevent arbitr ' _ 7
outreach may succeed : f fhere are better

t-mile workers and

o ensure not just basic.

ich one of the following is the -most
logical, rational and crucial inference
that can be derived from the above passage ?

Efforts to bring people in India’s
hinterland into the banking system: are

not successful.

(a)

(b) For meaningful ﬁnancﬁl inclusion,
India’s banking system needs more
number of banking correspondents and

other such last-mile workers.

Meaningful financial inclusion in India
requires that banking correspondents

(c)

_have diverse skills.

outreach would be
impossible banking
correspondent is allowed to serve a
number of banks. . Do

Better banking
unless

@

each

(29-A)
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(c) 125
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132, 129, 124, 117, 106,93, X ?
(a T4 7
(b) 76
(¢} 776
@y 77
49, A wall clock moves 10 minutes fast in every
24 hours. The clock was set right to show the
correct time at 8:00 a.m. on Monday. When
the clock shows the time 6:00 p.m. on
Wednesday, what is the correct time ?
(a) 5:36p.m.
(b) 5:30 p.m.
(¢} 5:24pm.
(d) 5:18pm.
50. If the numerator and denbminator of a proper
_fraction are increased by the same pos
quantity which is greater than =
resulting ﬂ_‘action. is
(a) always less than the 6rigin ion
(b) always greater than fraction
(c) alwayé equal to iginal fraction
(d) such that _n can be claimed
deﬁnitew | |
51. What i g)sequence
4, 196, 16, 144, 36, 100, 64,X ?
(a) 48
(h) 64
(¢) 125
(d) 256
BKL-S-HJU

What is X in the sequence

52.

153,

54.

{31-A}

In a group of 156 peoj:lle; 7 can read French,
8 can read English while 3 of them can read -
neither of these two languages. The number of

people who can read exactly one language is

(a) 10
(b) 9
(¢} b

d) 4

es of a book starting

A printer numbe
with 1 and digits in all. How many

pages do C) have ?

(b 1048
) - 1049

(d) 1050

Consider the followmg sequence that follows

some arrangement
c_accaa_aa_bc_b

The letters that appear in the gaps are

(a) abba
(B) cbbb
(¢ bbbb
(d) ccec
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(a)

wr= 3ft I W % S T o 50 kg B |

=l 3R 3% fUar % a5l 1 ofted 52 kg R
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() 50kg
() 52kg
(d) Bikg
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60.

Fis R ?
(a)
)

{c) .
(d)

2018
2017
2016
2015

UEIT 136 ! 5B7 H T W WG TNHR TAS
8, &l A 3 B yiiw € | w5 fen mn @ %
7A3 gurda: 3%W%|meﬂw
U TR 2

(a) 2 |

(b) 5
(e) 7
d 8



85.

“A family has two children along with their
parents. The average of the weights of the
children and their mother -is 50 kg. The
average of the weights of the children and
- their father is 52 kg. If the weight of the
father is 60 kg, then what is the Welght of the
_ mother ? '
‘() 48kg
() 50kg
(0 52kg
(d) B5ikg
56. - Suppose you have sufficient amount of rupee
" .. gurrency in three denominations : ¥ 1, T 10
- and ¥ 50. In how many different ways ca.n-you
pay a bill of T 107 ?
(a) 16
by 17
(© 18
dy 19
57. ‘A’ started from his house an @ 20 m
towards East, where his joi i
They together walk
direction. Then
right. and. travelled 2w and 8 m respectwely
_Again ‘B’ tu@ to travel 4 m followed by | '
5m'to o reach His office. ‘A’ turned
right travelled 12 m to reach his office.
What is the shortest distance between the two|
offices ? ' '
(a) 16m
(b) 17m
(¢ 19m
(d 20m
BKL-S-HJU

(33-A)

 58.

60.

Conmder two stabements 51 and S2 followed
by a question : : : .

S1: pand q both are prime numbers:
S2: p +qisan6dd infeger. 7
" Question: Is pq an odd integer?

Which one of the following is cbrre(it ?

{a) S1 alone is sufficient to wer the
guestion

(b) 82 -alone is suffici swer the
que'stion ' )

(c) Both 81 an; together are not

' . sufficien er the question

(d) S2 are necessary to answer

the quegtion

ich year has the same calenda.r as that of
09 ?

2018
2017
2016

2015

Number 136 is added to 5B7 and the sum

obtained is 7A3, where A and B are integers.

1t is given that 7AS is exactly d1v131ble by 3.

The only p0551ble value of B is

(a) 2

(b) b
© 7
(d 8
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Directions for the folldwing 7 (seven) itéms :
Read . the following five passages and answer the
items that follow each passage. Your answers to

these items should be based on the passages only.
Passage -1

India’s economic footprint, given its
population, still remains small compared to
the US,_ the European Union or China. It
.has much to learn from other economies,
yet must impl.ement solutions that fit its

.. unique circumstances. India ‘.especially
needs an effective loﬁg-term; regulatory
system based on coliah_oration rather than
the current top-down - approach.

Régulations seek desirable outcomes yet

are repeatedly used as polii':i'c_:al tools to

push one agenda or anothér. . OR\
regulations fail to consider inipaci;s on jobs

and economic growth — or less restpictive.
alternatives. 'Réélﬂations may, bel u to
protect local markets a expense of
more widely shared ¥p rity in the

ations inevitably

result in rous unintended

consequ day’s hyper competitive

global ecomomy, regulations need to be

viewed as “weapons” that seek
cost-justified social and environmental
benefits while improving the economic
well-being of most citizens.

BKL-S-HJU (35

Which one of the following is the most

61.

logical, rational and crucial inference

that can be derived from the above passage ?

(@) A better regulatory system will help

" India achieve the size of economy
appropriate to its population.

() In a competitive global economy, India
must use regulations strategically.

(¢) Regulations in India do n our its
integration  with da; hyper
competitive global my? :

(@ Job - creatiot conomic ‘growth
should be @ t considerations in
develo% a's regulatory system.,

62. On asis of the above passage, the
4™ following assumptions have been made : .
today’s global economy,

1.  regulations are not effectively used to
protect local markets. '

2. social and environmental ‘concerns are
generally ignored by the governments
across the world while implementi'ng the . -
regulations. -

Which of the above_aésumptiqns is/are valid ?

(a) 1lonly

(b) 2 only

(¢) Both1and?2

(d) Neither 1 nor 2

_A)
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Passage - 2

In a study, scientists compared the
microbiomes of poorly nourished and well
nourished infants and young chﬂdren. Gut
microbes were isolated from faecal samples of
malnourished and healthy children. The
microbiome was “immature” and less diverse
in malnourished children compared to the
better developed “mature” microbiome found
in healthy children of the same ,.age.'
According to some studies, the chemical
compositidn of mother’s milk has shown the
presence of a modified sugar (sialylated
oligosaccharides). This is not utilized by the
baby for its own nutrition. Howéver, the
bacteria constituting the infant’s microbiome
thrive on this sugar which serves as their
food. Malnourished mothers have low levels
of this sugar in their milk. Consequently, the
miciobiomes of their infants fail to mature.
That in turn, leads to malnourished babies.

N

Which one of the following i

63. maost
logical, rational and cruc rence

that can be derived from th, passage 7

(@ If malnourished go &n' hildren is |
caused by gut %’\a, it cannhot be] -
treated. 4 :

(b) The gu Inourished babies should
be.inoculated with mature microbiomes. | *-

(c) B $ malnourished mothers should |
be fed with dairy milk fortified with
sialylated ohgosacchandes instead of

) mother’s milk. '

(d) Research on belii_gn 'eﬂ'ects of gut
bacteria on nutrition has policy
implications.

' BKL-S-HJU (37

64. - On the basis of the above passage, the
following assumptions have been made :

1.  Processed probiotic foods are a solution
to treat the children suffering from
malnutntmn due to immature gut

o bacteria composition.

2. The babies of malnourished mothers

generally tend to be malnourished.

Which of the above assumptlons is/ape valid?

(a) Llonly L

(b) 2only

(c) Both1land2

(d) Neither 1 nor 2

Temper %13 risen nearly five tlmes_
as rapi Westem Antarctlc Peninsula
than t al average’ over the past five

searchers have’ now found that

glaciers are causing a loss of specles

1ty among benthos in the coastal waters off
the Antarctic Pemnsula impacting an entire
seafloor ecosystem. They believe increased levels

 of suspended sediment in water to be the cause of
the d—windling bibdiversity in the coastal region.

On the basus of the . above passage, the
~ following assumptmns have been made :

65.

1. Regions of glaciers warm faster than
other regions due to global warming.

2, Global warming can lead to seaﬂoor

| . sedimentation in some areas. o

3.  Melting glaciers can reduce -marine

‘ biodiversity in some areas.
“Which of the above assumptions is/are valid?

(a) land2only
(b) Sonly

(¢) 2and 3only
(d 1,2and3

—A)
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Passage -4

A researoh team eiamined a long-term owl

. roost Owls’ prey on’ ‘small mammals and the

_- excreted remams of those “meals that

'acculnnlated over the time, provide us an

' ineight into__the composition and structnre__of '

small mammals over the past millennia. The

~ research suggested that when the Earth went

~ through a period of, rapid warming about
- ‘ 13_,000;' years ago, the _smell ‘mammal
- community was stable and resilient. But,
- from the last .quarter- of the nineteenth
B century, : human-made changes to - the .
- environment had caused an enormous drop.
" in biomass and energy flow. This dramatic"
decliné in ‘energy flow means " modern
ecosystems are not adaptmg as easily as they

did in the past

66. On 'the basis of ‘the above ‘passage,

following assumptions have been made*
1. Global warming is a frequen

2. The impending glob :
- adversely affect small ma:

3. Hm:ane _
. the E};né?%l resilience.

Which : assumptions is/are valid ?

@ 1aMzonly

- (b) 3on1§: |

. (l':); ' ;"...antlBonly
(d 1,2 and.,S'

BKL-S-HJU -

1 méls. .
p le for the loss of

. Passage -5 ,

Food varieties extlnctlon is happenmg alln
over the world — and it is happening fast. For
example, of the 7 OOO_apple varieties that_ were
grown during the nineteenth century, _feWe'r than
a hundred remain. In the Phlhppmes thousands
of varieties of rice once thnved now only up to a
hundred are grown there In Chlna 90 percent of

have _dlsappeared.' Farmers
painstakingly bred and dev ps v
suited to the peculiel'ities i “Tocal oliinate
and ‘envirom-nent., In the

dependence on a few '

'past‘,' our heavy
elding varieties and

technology—dnve Stoditetion and distribution of
d i . @ hdling of diversity in food

 mitating crop disease or future 2

ecimates the few crop plants we

ave come t ‘to depend on to feed our growmg- .
tion, we Il]lght desperately need some ofi

thosefvarieties we have let go extinet,

On the baeis of . the above p_aSseige, the

following assumptions have been made :

"1, Humans have been the main 'reason for-
the large scale extmctlon of plant
species.

2 Consumptlon of food mamly from’ loeally

' cultivated crops ensures crop diversity.

3. . The present style -of production and

' distribution of food will ﬁnally lead to.
the problem of food scerczty in the near

- future. = ~

4.  Our food security "may depend on_ our
ability to preserve the locally cultwated
varieties of erops.

Which of the above assumptions are Valld 2

(@) land3 : :

(b)  2and4

{c) 2and3 .
(d} land4

(395A)'
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68 If every alternatwe letter of the English

(a) JuLY
(b)) jULy
() jUly
@ Uy

aIphabet from B onwards (mcludmg B) is

written in lower case (small letters) and the

rémaining letters are capitalized, then how is|

the first month of the second half of the year

written ?

‘69.  Sunita cuts a sheet of paper into three pieces.
Length of first piece is equal to thé average of
the three single digit odd prime numbers.
Length of the second piece is.-equal to that of
the first plus one-third the length of the third.
The third piece is as long as the other tw

' pieces together. The Iength of the " ori
-sheet of paper is
(a_) 13 units - \
(b 15 units (b
{c) 16 units
(d) 30 units &

70.  In the sequén 5,@,5, 7, 4, 3, 5, 7, how | 13-
many such . re there which ére not
immed @ ywopreceded by 3 but are
immediately followed by 7 ? -

(a)
by 2
) 3
(d) None
BKL-S-HJU ﬁ ( 41‘ —-A)

1.

A joint family consists of seven members A,'B,

. C, D, E, F and .G with three fémales. Gis a

widow and sister-in-law of D’s father F. B.and
D are siblings and A is ciallghter-of B.C isA
cousin of B. Whois E? - '

1. Wife of F'*

2. Grandmother of A

3. AuntofC

Seleet the correct answer e code given

- below :

(@ 1land2o0 @
(b) 2and3o -

(¢} 1and
d 12a

Each face of a cube can be painted in black or

hite colours. In how many different ways can

.the cube be painted ?

a) 9
by 10
() 11
@ 12

" How many triplets (x, y, z) satisfy the

"equation x +y + 7 = 6, where x, y and z are

natural numbers ?

(a) 4
b 5
(cy 9
d 10
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80.
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If $ means ‘divided by’; @ means ‘multiplied

4,
! by; # means ‘minus’, then the value of
10#5@1%5 is :
(a) 0
) 1
e 2
S 9
75. An 8digit number 4252746B leaves.

remainder § when divided by 3. How many
values of B are possible 7

(a) 2
(b) 3
) 4
d 6

Direc'tions for the following 3 (three) items :

Read the following information and answer
three items that follow :

Six students A, B, C, D EandF appeared
several tests. Either C or F scores the hest
Whenever C scores the highest, then

least. Whenever F scores the highes ores

the least. &
rent” marks;

ey are close
an B; C scores

In all the tests they
D scores higher than
competitors; A score
higher than A,

If F stan
position of
(a) Third
(b) Fourth
(e}  Fifth

76. second in the ranking, then the

is

(d). Sixth

BKL-S-HJU

7.

78.

79,

80.

(43-A)

IfB scores the least, the rank of C will be -

(a) . Second

(b) Third

(¢) Fourth
Second or third

(d)

If E is ranked third, then whlch one of the
following is correct ?

(a) E gets more marks than C
(b) C gets more marks than
(c) ~ Aisranked fourth

(d) D is ranked fiﬂ:h

Directions for the fo @2 (two) items :

Read the followi
answer the two e

ments S1 and S2 and
t follow :

e weight of Sohan is less than _'
e weight of Mohan or that of Rohan.

S1

ice the weight of Rohan is greater
than the weight of Mohan or that of
Sohan,

Which one of the followmg statements is
correct ?

(a) Weight of Mohan is greatest

(b) Weight of Sohan is greatest

{c)  Weight of Rohan is greatest .

(d) ‘Whose weight is greatest’ cannot be
determmed

Which one of the following statements is
correct ? '

(a) - Weight of Mohan is least

(b) - Weight of Sohan is least

(¢)  Weight of Rohan is least

(d) least’ cannot be

‘Whose weight is
determined '
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